
Super Teacher Worksheets - www.superteacherworksheets.com

Name: 

Daily Word Problem

E-121

The National Weather Service tracks the amount of rainfall at 
various locations. The table below shows rainfall totals for a 
city over a six month period.

January

February

March

April

May

June

3.59

4.57

2.21

2.79

3.02

2.87

Month Total Rainfall (inches)

_________________________

What is the difference between 
the month with the most rainfall 
and the month with the least?

_________________________
What is the total amount of 
rainfall over all 6 months?

Show your work.
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Name: E-122

Braxton ran 2 miles. Justine ran 31/  miles. Kyla ran 41/  miles. 
How many miles did the students run all together?

Show your work.

answer: ____________________

Write your answer as a mixed number.

1
3

1
2
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Name: E-123

Hayden ran 3.2 times as many laps around a track as William. 
If William ran 4.5 laps, how many laps did Hayden run?

Show your work.

answer: ____________________
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Name: E-124

________________________How long is the piece of land?

________________________
What is the area, in square 
miles, of the piece of land?

A piece of land for sale measures 31/  miles wide. It is 21/ 
times as long as it is wide.

Write your answers as mixed numbers.Show your work.

1
2

1
4
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Name: E-125

________________________

How many honey bees would it 
take to make 1 cup of honey? 
Remember 1 cup equals 48 teaspoons.

________________________

How many bees would it take 
to make 1 gallon of honey? 
Remember 1 gallon equals 16 cups.

Show your work.

Evelyn is studying honey bees. She found out that it takes 12 
honey bees to make 1 teaspoon of honey.
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Daily Word Problem

ANSWERSE-121 through E-125
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________________________

How many honey bees would it 
take to make 1 cup of honey? 
Remember 1 cup equals 48 teaspoons.

________________________

How many bees would it take 
to make 1 gallon of honey? 
Remember 1 gallon equals 16 cups.

Show your work.

Evelyn is studying honey bees. She found out that it takes 
12 honey bees to make 1 teaspoon of honey.

________________________How long is the piece of land?

________________________
What is the area, in square 
miles, of the piece of land?

A piece of land for sale measures 31/  miles wide. It is 21/ 
times as long as it is wide.

Write your answers as mixed numbers.Show your work.

1
2

1
4

Hayden ran 3.2 times as many laps around a track as William. 
If William ran 4.5 laps, how many laps did Hayden run?

Show your work.

answer: ____________________

Braxton ran 2 miles. Justine ran 31/  miles. Kyla ran 41/  
miles. How many miles did the students run all together?

Show your work.

answer: ____________________

Write your answer as a mixed number.

1
3

1
2

The National Weather Service tracks the amount of rainfall 
at various locations. The table below shows rainfall totals 
for a city over a six month period.

January

February

March

April

May

June

3.59

4.57

2.21

2.79

3.02

2.87

Month Total Rainfall (inches)

_________________________

What is the difference between 
the month with the most rainfall 
and the month with the least?

_________________________
What is the total amount of 
rainfall over all 6 months?

Show your work.
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48 × 12 = 576
576 × 16 = 9,216


